& PLCS 2 PLCS

ISOMETRIC VIEW
178 SCALE

000 ORONNOO00 OO0

BOLTS & KEY INCLUDED 6 PLCS BOLTS & KEY INCLUDED W/BUSHING 7 PLCS
W/ BUSHING MATCHED SEE SALES ORDER FOR SHEAVE: :
SEE SALES ORDER FOR SET 11 RATIO, K915-27301 SHEAVE,
SHEAVE, 6C18.0 F 6 PLCS
K915-273011 SHEAVE, 1.051 RATIO, K915-2740i, SHEAVE, MATCHED SET ¢ PLCS
6Ci8.0 F 6C19.0 MTO F (SHOWMN}

& PLCS
MATCHED 32
SET

30 | K80B—11801) 2 | COLLAR, LOCK 2.50"¢ M TYPE 1—PC
M4aL
29 | K203-083011 6 BELT, CC-210
28 |K200-02172( 1 ADJ BOLT WLDMT, 1-8 X 8.38"
27 | K200-02121] 1 ARM, TENSION, DIFF IDLER 24"
26 |K200—02120{ 1 | SHAFT WLOMT, IDLER SWING ARM 24"
25 | K200-02117 | 1 ADJ BOLT WLDMT, 1-8 X 12.38"
24 |K200-02115] 1 | SPPRT WLDMT, TOP IDLER BRKT, ARR
5&8, 24"
23 |K100-02114] t BRKT WLDMT, TOP IDLER, 24"
22 |Ki00—01935]| 2 SHEAVE ASSY, DIFF_IDLER 24"
21 |K100~00465 ] 1 SWING ARM ASSY, DIFF IDLER 24"
20 | K100-004211 1 TURNBUGKLE ASSY, DIFF IDLER 24"
19 | K100-002021 t ADJ PLT WLDMT, DIFF IDLER 24~
18 70012050 | t |CPLG, ELBOW 90" 1/8—27M NPT X 1/5;'
0D TBG
17 66446400 | B WASHER, LOCK 3/4” PLT
16 66445800 |14 WASHER, LOCK 5/8"
15 66445200 7 WASHER, LOCK /2"
14 66407400 | 2 WSHR, FLAT 1" PLT
13 66087400 1 NUT, HEX 1-8 PLT
12 66086400 | 8 NUT, HEX 3/4—10 PLT
1" 66085800 | 1 NUT, HEX 5/8—11 PLT
10 66085200 | 6 NUT, HEX 1/2-13
9 562586442 a8 HHCS, 3/4—10 X 3.00"
8 62585846 6 HHCS, 5/8—11X 3.50”
7 62585842 | 6 HHCS, 5/8—11X 3.00”
6 62585837 | 1t HHCS, 5/8—11X 2.50"
5 62585833 | 1 HHCS, 5/8—11X_2.00"
4 52585226 |13 HHES, 1/2-13 X 1.25"
3 44011549 | 6 HHCS, 9/16—12 X 3.63"
2 44011549 | 2 KEY, RECT 5/8 X 7/8 X 4.00”
1 44011549 | 2 BSHG, QD F 3.438"
ltem |PART NUMBER|Qty DESCRIPTION
8 PLCS CAD
NG MANUAL
CHONGEY
TOLERANCES
{EXCEPT AS
HOYED) I
f the AT, Ferrell Company, W*. FﬁSHNE scgf/:m WSJM ‘fﬁpﬁm;r
NOTES: ;:lhc}sagzwrm:gst‘sbé:‘:emn?:n:nedﬁy Ypon, rc:geisl. Mo Mﬁ DR TE: B
; 33:"??;&"‘%?@5%"5’3 ggamlyo%o—ozosa/—omao ~02456: ROLLER MILL ASSY, 24 X 4B/36/56. rp:lrrtie:afligiisx o?glrl;nn?mme;e A u$ ffc'hrrnotr)rTby: u‘;y] * ‘f_’” - DIFF ;g_ll.tms‘g‘, ARR 5 & 8 (RH 3;2) 24"
-a 3: DRIVE & DRNEN SHEAVES (K815-27301 & K915-27401) ARE LINE TEMS ON THE SALES QROER. ?oﬁr;n;ltmu‘ prior writtan consent of the AT, Fervel MGU*I.N:./ 05/9/02 l B | D 00—00466 1 of 2
E 11 HOF Dot Y




